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Set Theory
Ay Rsia

Key Points:-

Set :- Collection of well-defined objects is called 2.

a set.

Finite set :- A set which cantains finite no. of
elements is called finite set.

Infinite set :- A set which contains infinite no. of
elements is called infinite set.

Empty set :- A set which contains no element is
called empty set.

Equal set :- Two sets A and B are said to be equal
if they have exactly same elements.

Subset :- A set A is said to be subset of a set B. if
every elements of A is also an element of B.

Power set :- Collection of all subsets of a set A is
called Power set of A.

Union :- Union of two sets A and B is also a set
which contains all those elements which are either
in A or in B.

Intersection :- Intersection of two Sets A and B is
also a set which contains all those elements which

are common in both A and B. 4.

Complement :- Complement of a subset A of
universal set U is the set of all elements of U
which are not the elements of A.
(AUB)=A'NB

(ANB)'=A'UB'

n(AUB) =n(A) + n(B) — n(ANB).

Multiple Choice Questions
(a8 famedia uw)

A Setis a -

(a)  Collection of Objects

(b)  Collection of well defined Objects
(c)  Selection of Objects

(d)  None of these.

T WIS §
(a) IRl BT GUT |

(b) GURATNT TR BT HUE | 6.

(c) Tgll &1 g |

() 3T I PIg TE
The set {x : x is a positive integer and x> < 10} in
Roster form is -

(@ {1,2} (b)
() {1,2,3,4} C)

AT {x : x T gTHD YUl & 3R 2 < 10}
BT ARMEE BU 8—

(@ {1,2} (b)) {1,2,3}
() {1,2,3,4) @  {1,2,3,...,9,10}

The set A= {1, 4, 9, 16, 25, ....... } in set-builder
form is -

(a)  {x:xis the square of natural numbers}

(b)  {x:xisanatural numbers}

(¢) {x:x is a Whole numbers}

(d)  None of those.

{1,2,3}
(1,2,3,...,9,10}

FgeTd A={1,4,9,16,25, .......} BT OB IHT
Y B

(a) {x:xUTIHd AR BT a7 T}

(b) {x:x TP UTHd A& & |}

(© {r:x U® Yol G&AT B}

(d) 37 9 Pig
IfasetA={1,2,3,4,5,6} then which one is true-
(@ 4€<A (b) 5€A

(c) 1A d 3€A

afe A=1{1,2,3,4,5,6} & T © o =
H A P A B

(a) 4€A (b)
(c) 1eA (d)

A set is called a Null set if -

(a) It contain no elements.

(b) It contain Single elements.

(¢) It contain more than two elements.
(d) None of these.

SEA
3EA

Udh NEEER QQ’CI AHzdI dhedldl %‘Zrﬁ{ —
(a) SUH PIg AT Tl ¢ |

(b) sUH RI% UH rquq &)

(c) SUH I AT TT 9 1P 1ad B |
(d) =T | IS T |

Which one is the Null set -
(a) {x:x2-4 =0and-2<x<2}




(b) {x:x*-4=0andx<2}
(¢) {x:x*-4=0and-2<x<2}
(d) None of these

(c) THI @ TN A B
(d) T A B T

ArfaReg § § &9 Rad T & 11.  All infinite sets can not be described in the -
4 =08k <x<) (a)  Set - builder form.
@ frix- 2<x<2} (b)  Tabular form/Roster form.
(b) {x:x*-4=03Rx<2} (c) Intervals.
() {x:x2—4=03R-2<x<2} (d)  None of these.
@ ¥ P T T SR et T @rad el fhar S HehdT 3
7. ThCSCtA:{XZ 1<X<2,XEN} is - (a) W_WW 3] |
(a) A'n .empty set. (b)  An infinite set. (b) AROEE 39|
(c)  Finite set. (d)  None of these (c) ofdwre |
TYead A= {x:1<x<2,xeN} g- (d) 37 W Big
() Rad vz | (b) URAIEFET| 12, IfR = Set of real nos. N = set of natural nos. Z =
(c) URMT Tz | (d T DR T set of integers then which one can not be described
in the roster form -
8. A set is called a finite set if - (a N by Zz
(a) It contain infinite no. of elements. (0 R (d)  None of these
(b) It contain no elements. I R = aRdfden Aeama & wHeed, N = Urdhd
(c) It contain finite no. of elements. T3l BT A, Z = %\U'fqﬂ' B Y ar
(d)  None of these. fyrfafed # & $9 U6 ARvEg o § @Ed
TP AT IRMAT Tdd T © afe — Bl fhar ST Fhd—
(a) 3rgudl & G aRMAT B | (@ N b Zz
(b) BT 3fayqg TE & ) R d) T 9 I
(c) eraual & et aRfAd & | 13. IfsetA={1,2,3) and B = {2, 1, 3} then which
(d) T | DIg LI | one is true -
: o . (a) A=B (b) A#B
9. Asetis called-mﬁnlte. set if © AUB=¢ (d) None of these
(a) It contain infinite no. of elements.
(b) It contain finite no. of elements. afd A={1,2,3} 3R B={2, 1,3} =1 & &
(¢c) It contain No elements. DI T B
(d) None of these. (a) A=B (b) A#B
S R i, S afy (c) AUB=¢ (d) TTH A IS 78|
(a) oggdl @ AT SaRfd & | 14. If every element of set A is also an element of set
(b) Sl @) e gRME & | B then A is said to be -
& B (a) asuper set of B.
© Eﬁl’sﬁ : _ ! (b) apower set of B.
(d) T A Big 7 | (¢) asubset of B.
10. Two sets A and B are said to be an equal set if - (d)  None of these.
(a) They have exactly the same elements. IR TEE A BT URF S G B @7 )
(b) They have the same no. of elemetns. :
YT B I A BEATT B —
(¢)  They have same Length.
(d) None of these. (@) B@r gﬁaaaq gy
b) B®I HqoaY
3 T ARIR B 99 g $HEAN © Ifa— ®)
N . (c) B U9
(a) < H gg gof $u | A T @ T AP T
(b) T H I[FIAl B A=A FHA B |
BET-11 (TI'fU\'IT‘D =)




15. If Z = set of integers, N = set of natural numbers,
Q = set of rational numbers. then which one is
true.

(a NcCcZcQ (b)) ZCNCQ
(¢) QCZCN (d QCNcCZz
e 7 = quriepl &1 Ag=ad, N = Ul A3 BT
e Q = URHY eArsl &l way ol e |
B AT T B —
(a NcCcZcQ (b)) ZCNCQ
(¢) QCZCN (d QCNcCZz
16. ThesetT= {x:x € Randx & Q} is equal to-
(a) R+Q (b) R
() Q (d R-Q
e T={x:x €ER 3R x € Q) TR
a
(a R+Q (b) R
() Q (d R-Q

17.  The collection of all subsets of a set A is called -
(a)  Super set (b)  Subset
(c) Power set (d) Equal set
T A D G IuAHddl BT HIE HEA o
(a) S wwm (b))  SU wwd
(c) TIfdd ¥q==d (d) |EE G

18. If A be a set having m-no. of elements Then total
no. of subsets of A is -

(@ @" (b)  (my

) (@ (d A"

If AgTIT AH 3@¥al B WA mB A AD
STl B weAT sl —

@ @ (b)  (m)

() () (@ @m

19. If Ais an empty set, then n [P(A)] =
(a 2 (b) 0
(c) 1 (d) Not defined.
afe Adig Rad G99z & T n[P(A)] =
(@) 2 (b) 0
(c) 1 (d) IUR9Ya

20. IfsetA={a,e,i,0,u} and B={a,i,u} then AUB =
(@) B (b)) A
) ¢ (d)  None of these.
afe I A= {a, e, i,0,u} IR B = {a,i,u}dl
(AUB) =
(@) B b A
() ¢ d) s W PIg T

WH&T-11 (MO

21.

22.

23.

24.

25.

IfA={2,4,6,8} and B= {6, 8, 10, 12} then AUB =
(@ A (b) B
© {246810,121d ¢
afd A={2,4,6,8} 3R B={6,8,10,12} dI AUB=
(@ A (b) B
© {246810,12}d ¢

If set A= {2, 4, 6,8} and B = {6, 8, 10, 12} then
ANB=

(@ A (b) B

() {6,8) (d) {2,4,6,8, 10,12}
afe e A= {2, 4, 6,8} IR B={6,8, 10,
12} 9 ANB=

(@ A (b) B

(c) {6,8} d) {2,4,6,8,10,12}

The Union of two sets A and B consists of elements
which are -

(a) Common in both A and B

(b) EitherinAorin B

(¢) Neither in A nor in B

(d) None of these

A gl A SR B &1 WfEed (AUB) O¥
3raal 1 HWIE § Wl ©§ —

(a) AR BTHEl # wnfAe |

(b)y TTAAH I BH

(c) T A AH T T BH|

(d) T 4 IS T8 |

The Intersection of two sets A and B consists of
elements which are -

(a) Common in both A and B

(b) Eitherin A or in B.

(c)  Neither in A nor in B.
(d) None of these

S el A IR B &1 HAS o 3fadal B
YT & Sl o—

(a) AQR B3FI H wfie |

(b)y T AH T BH

(c) TAAAHTABHI

(d) T ¥ BE 7|

The set {x : x € Aorx € B} is equal to -
(a) AxB (b) ANB

(c) AUB (d AB

AT {x:x €A T x € B} RIR & —
(a) AxB (b) ANB

(c) AUB (d AB




26. Theset {x:x € Aand x € B} is equal to - (a) CIESIC RS TG L ECR
(@)  AB (b) AxB (b) URFT el &1 agTy
() AUB @ ANB (c) URHT FEARI & A=
gead {x:x EA IR x EB} TR § — (d) Y=g T8l E |
Eg QL]JSB 8; ﬁ:ﬂ]; 31. If U be the universal set and A be any subset of U
then the set {x : x € U and x &€ A} is denoted by-
27.  For the sets A,B and C if the property (AUB)UC = (@ A (b)) A
AU(BUC) holds then, this is known as - (¢ U+A (d)  None of these.
(a) Distributive law. ~
(b) Commutative law. afe U = 9df@d aeeg 3R A, U &1 @13
(c) Associative law. SUAHTd © A e {x:x € U 3R x € A}
(d) None of these 31 frefid fear sirar & —
el A, B ek C & fow Ay (AUB)UC = @ A (b) A" .
AUBUC) ? dr 8 Fram deear & — (¢c) U+A (d) T F PIg T
(a) fIo=or =\ (b) A AfFmy M 32. If A is a subset of the universal set U. then its
(c) el frgm (d) s A Big e complement A' is also a -
. (a) Powersetof A(b) Subset of A.
28. Eqr theﬂszt A. if the property AUA = A holds then (c) SubsetofU. (d) Power setof U.
1t 1s called -
(a)  Idempotent law. Al A AEdEe gead U ol Suaqead © df A
(b) Commutative law. B Reb FHaT A's —
(C) Associative law. (a) A DT QT% W |
(d)  Distributive law. (b) AT ST |
I A D folt M AUA = A SEardT & — (c) U Iuaqg=N |
(a) o I\ (b))  wA fafm e (d) U ofed qq=ad |
() X ERERE (d) ERR q 33. Let A be a subset of Universal set U, A' be the
29. For the sets A, B and C, if the property AN(BUC) complemf:nt of A then (A')' is equal to -
= (ANB)U(ANC), holds then this is called. (@)  Universal set. (b) A.
(a) Distributive law. (c) A (d) Not defined.
(b)  Associative law. '
(©) Commutative law. AT 6 A\rdEe gy U sl SAREGR 2, A,
(d)  None of these. AT R FHeag 8 Al (A') aRIER & —
: adye g (b)) A
et A, B3R C & Ry frm An(BUC) = Ei)) K Ed; i |
(ANB)U(ANC) PHEATT B—
(a) fawer frgm 34. If U be an universal set. A be a subset of U and A'
(b) f f be complement of A then (AUA) is equal to -
a A (b)y A
(c) W'W ]%RF[ (c) U (d) Not defined.
(d) STH I BIg T8 e
0. Rt el 40isth e rational Ife U =drdfd aq=ad, A Udh SUaHzad qll
. 18 the set of real nos. an 18 the set of rationa ; ;
! Q:iﬂ'oill] UA") NTeN —
nos. then (R — Q) is - AP gl (a A)' E
(a)  Setofreal nos. @ A b) A
(b)  Set of rational nos. (¢ U (d) 3R
(c)  Setof Irrational nos. 35. If U = universal set, A = subset of U and A' =
(d)  Notaset. complement of A then the set (ANA") is equal to -
I R = IRfdd H=181 BT Tzl &, AR Q = (@ ¢ b)) A
ey il & 9gead & al (R-Q) & — © A (d)  None of these
WH&T-11 (MO —




gfe U = Ardie aqeed, A Ud Suagead A
R AT B Al (ANA") TRIER & —
A

(@ ¢ b) A |
© A @) oG B

41.

Which one is in set - builder form of the set X =
{1,4,9, 16,25, .......... }

(a) X ={x:xisasetof prime numbers}

(b) X ={x:xis asetof whole numbers}

(c) X ={x:xis asetof natural numbers}

36. If A and B are two subsets of an universal set U (d) X ={x:xis a set of square numbers}
then (AUB)' is equal to - .
(a) (AUB) (b) (ANB) /=1 § | 39 |1 = X = {1, 4,9, 16, 25,
(¢c) (A'NB" (d @) } BT U1 JHTIHRUT Y T
If ASIR B AR qead U &l SUaH=d ¢, (@) X = {x:x 3T H@ldﬁ BT e ©)
4 (AUB) IR - (b) X = {x:xqof F=aRl & Fg=g g}
(a) (AUB) (b) (ANB) (¢) X={x:xUpd A= H A= 8}
(c) (A'NB) (d) (A'UB) (d)  X={x:x 3 G=IRI B T )

37. If A and B are two subsets of an universal set U 42. IfA={3x+5:x€N and x<6} then roster form of
then (ANB)' is equal to - set Ais -
(a) (AUB) (b) (ANB) (a) {8,11,14,17,20,23}
(c) (A'UB) (D) (A'NB") (b) {8,11, 17,23}

o (c) {8, 14,20,23}

afe 13 U a1 I 3 AR B (d)  Can not be express.
2 d (ANB) SRT&R 28—
(a) (AUB) (b) (ANB) AfE A= {3x+5:xEN AR x<6} T TAB ARYIGE
(c) (A'UB) (D) (A'NB T o

38. If Ais subsets of B and B is a subset of A then - () {8, 11,14,17, 20, 23}
@ A=B (b) {8,11, 17,23}
b) A#B (c) {8,14, ZQ, 23}
(c)  Such A and B are not possible. (d) @rad el fobam ST e |
(d)  None of these 43. Roster form of the set A= {x : x&W and 5<x <9}
A, B &1 IuGHeA T B, A &1 SUGH= & df — is -
(a) A=B (a) {5,6,7,8,9}
(b) A#B _ _ (b) {5,6,7,8}
(c) 9 T A 3R BPI EHI 69 el 2| © 16,7,8,9)
(d) T A PIg d {1,2,3,4,5,6,7,8,9}

39. Empty setis - . AHTAI A= {x : xEW 3R 5<x <9} & AR5
(a) Infiniteset. (b) Finite set. T S
(c) Universal set. (d) Unknown set. @ {5.6.7.8.9)
Raq Feaa & — (b) {5: 6.7, 8’}
(a) STURMT T | () {6,7,8,9}
(b) URMHT \H=A | (d {1,2,3,4,5,6,7,8,9}
() X 43 g | 44.  The set-builder form of the set {6, 7, 8, 9} is -
(d) =N ey | (a) {x:x&Wand5<x <9}

40.  Which one of following is a null set- (b) {x:xEWand5<x<9}
83 ig}x >0 orx <ol (c) {x:x&Wand5 <x <9}
© ix ‘2 =3orx= 4}' (d) None of these.
(d) {x:x+1=0forxER} g {6, 7, 8,9} BT 0T UHCIHIT BT a—
ffolad # & &9 Rad Tq=aa € — (a) {x:xEW3MR5<x<9}
(@ {0} (b) {x:xEW3R5<x<9}
(b)  {x:x>0orx=<oj. () {x:x€EW3IR5<x<09}
(c) {x:x*=3orx=4} F .
(d) {x:x+1=0forxeR} (&) T A P A

HafT-11 ATOTD) —




45.  The number of elements in the power set P(A) of
the set A= {1, 2,3} is -
(@ 4 (b) 8
() 2 (d o6
A A= {1,2,3} ® Wfed Aqeag H sraydl
P AR T —
(a) 4 (b) 8
(c) 2 d o
46. IfP={3x:xEN} and Q= {3*: x&N} then -
(a) PcCQ (b) QcCP
(c) P=Q (d PuQ=N
afg P= (3x:xEN} 3R Q= {3*:xeN} @I
(a) PcCQ (b) QcCP
(¢ P=Q (d) PuQ=N
47. A set containing exactly one element is called -
(a) Empty set (b)  Singleton set
(c) Pairset (d)  None of these
T aead R % U@ sraud 8 dEerdr 28—
(@) Rad wg= (b) vod wg=
() THAEHEd (d) T A BIE 78|
48. IfA={p,q, 1, s} be a set then A is equal to B if -
(@ B={q,psri(b) B={qqpsrr}
(c) B={p,p,1,s}(d) Dboth(a)and (b)
I A={p,q1,5} Fﬁ?ﬂﬂﬁm A,B® RIR & I —
(@ B={q,p,s,r}(b) B=1q,q.p,8 51}
(© B={p,p,r,s}(d) (a)3fR (b) I
49.  Which one is a singleton set -
(a) {x:x€Z,x*=4}
(b)) {x:x€Z,x+5=0}
(c) {x:x€Z, IxI=1}
(d) {x:x€Z,x*=16}
7 # & B9 T IgEd -
(@) {x:x€Z,x*=4}
(b) {x:x€Z,x+5=0}
(©) {x:x€Z, IxI=1}
(d)  {x:x€Z,x*=16}
50. The empty set is a subset of -
(@) emptysetonly. (b) every set.
(c) universal set. (d) None of these.
Raq Feaa U T =g BT & —
(a) T® Red Aqeag o]
(b) UID T P |
(c) HERG Fg=ad & |
(d) sTH A BIS T |
WH&T-11 (MO

51.

52.

53.

54.

55.

56.

57.

The set {x€R : -2<x<3} is equal to -

(@ [2.3) (b) (23]

() (2,3) (d [-23]
e {(xER : 2 < x <3} WK T —
(@) [-23) (®) (23]

() (23) (d [23]

The set {x&€R : —2<x <3} is equal to -
(@ [23) (b) (23]

(®)  (23) (d  [-2,3]

AYTad {xER : 2<x<3} TWER B —
(@ [23) (b) (23]
(®)  (23) (d [-23]
The set {x€R : -2 <x <3} is equal to -
(@ (-2,3] ®)  [23)
(¢ [-2,3] (d  (23)
[T {(x€R : -2 <x <3} RN g —
(@ (-2,3] ®)  [23)
(¢ [-2,3] (d  (23)

The set {x&€R : -2 < x <3} is equal to -

(@ (-2,3] (b [2,3)

() [-2,3] (d  (2,3)

AT {(xER : 2 < x <3} TR & —

(@ (-2,3] ®)  [2,3)

() [-2,3] (d (23)

Total number of possible subsets of A = {1, {2, 3}}
is -

(@) 2 (b) 4

(c) 6 (d 8

AT A= {1, {2,3} )% G9T IuGHzl Bl Bl
GECHEE

(a) 2 (b) 4

() 6 (d 8

If A and B are two sets such that A =B then

(a) A< Bonly

(b) B < Aonly.

(c) AcBandBcA

(d) None of these.

Ife AR B3l A9y 39 UPR © b A=Bdl
(a) BITACB

(b) BIABCS A

(0 ACSBIRBCA

(d) T A PIE I |

Two sets A and B said to be disjoint if ANB is.
(@ A (b) B

© ¢ (d)  None of these.




3 AT A 3R B RYd T HEdld §
e ANB TR B—

(@ A (b) B
) o (d) None of these.

63. IfAand B are two sets such that A B then which
@ A (b) B one is true -
© ¢ d) oA Bg T (a) B CA' (b) A'CB
58. IfA=1{2,3,5,7 11} and B = ¢ are two sets then (c) A'cB (d B <A
AUB s - i AR B3l WHdd 39 TR 2 fh Ac Bdl
@ 2 R et 1 W B A B
(¢) Notdetermined(d) None of these. ¢
(a) B cA (b) A'cB
e A=1{2,3,5,7,11} SIR B=¢ Il AUB TIR & © A'CB d BCA
A
Eig B 64. IfA, B and C are sets such that AUB = AUC and
(¢ fyeiRa =&t fvar S awan | ‘(A‘;BZA?SCthen' © B-C
. . a = =
(d) T A PIS T | © AZB @ Bc
59. IfA=1{2,3,5,7, 11} and B = ¢ are two sets then
ANB s - Ife A, B3R C 39 SR & 9= 2 f& AUB
(@ ¢ b)) A =AUC 3R ANB=ANC d—
(c) Notdetermined (d)  None of these. (a) A=B (b) B=C
afe A=1{2,3,5,7,11} 3R B=¢ af ANB &R & () A#B d B#C
(@ ¢ 65. If A and B are two sets then n(AUB) is equal to -
b)) A
. (a) n(A)+n(B)-n(ANB).
© R &l [ ot wer | (b) n(A)—n(B)+ n(ANB).
(d) STH A BIS T |
(¢) n(A)—n(B)-n(ANB).
60. IfAand B are two sets such that ASB then (AUB)
. (d)  None of these.
is equal to -
(@) A (b) B afe AR BT 99=ad & @I n(AUB) SRR &
(C) (I) (d) None of these. (a) n(A) 4 I’I(B) _ n(AﬁB).
Ifd ASIR B 3T 99T 39 UBR & fdb ACBdl (b) n(A)—n(B)+n(ANB).
(AUB) I_T&R 88— (¢) n(A)-n(B)-n(ANB).
(@ A (b) B 4 T Y PE TS
© ¢ (d) T E PIE T | " _ _
66. If A and B are two sets such that n(A) =37.n(B) =
61. IfAand B are two sets such that ASB then (ANB) 26 and n(AUB) = 51 then n(ANB) is -
is equal to- (a) 37. (b) 2e6.
@ A (Z) I]?I i (c) 12. (d) None of these.
© ¢ (d)  None of these. afd AR B3 99=99 © & n(A) =37.n(B) =
Ifed AR B3I 9=ad 39 UBR & f6 AcCBdl 26 &R n(AUB) =51 d n(ANB) 2—
(ANB) &RTR 28— (@ 37. (b)  26.
(@ A b B ' () 12. (d) TTH I DIg e |
© ¢ (d) 3T B T 67. TfU=1{1,2,3,4567,8,09, 10}, P={1,2, 5
62. IfAandB are two sets such that ASB then (A—B) and Q = {6, 7} then PNQ"is -
is equal to- (@ P ® Q
(a) A (b) B ¢ Q (d) None of these
© ¢ (d)  None of these. afe U=1{1,2,3,4,5,6,7,8,9,10}, P= {1,2,5}
afe A3IR B3 99 39 UHKR & fd AcBAl AR Q=1{6,7} & A PNQ' &~
(A B) a¥IR & (@ P ® Q _
© Q d) T PE T
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68. IfU={1,2,3,4,...9,10},A={1,3,5,7} and
B={1,2,3,4,5} then (A'UB") is -
(a {2,4,6,8,9,10}
(b) {2,6,7,8,9,10}
(c) {2,4,6,7,9,10}
(d {2,4,6,7,8,9,10}
afg U={1,2,3,4,...,9,10}, A= {1,3,5,7} 3R
B={1,2,3,4,5} g d (A'UB") & —
(a) {2,4,6,8,9,10}
(b) {2,6,7,8,9,10}
(c) 1{2,4,6,7,9,10}
(d {2,4,6,7,8,9,10}
69. If ACB then (A'UB') is equal to -
(@) A (b) B
) A (d B
afd ACB @I (A'UB') &_T&R 8—
(a A (b) B
() A (d B
70. If A and B are two sets such that n(A) =70, n(B) =
60 and n(AUB) = 110 then n(ANB) is equal to -
(a) 240. (b) 50.
(c) 40. (d 20.
e AR B3I 9= 39 UGR © & n(A) =70,
n(B) =60 3R n(AUB)=110 I n(ANB) TR &—
(a) 240. (b) 50.
(c) 40. (d 20.
71.  If A= ¢ then n[P(A)] is equal to -
(a) 1. (b) 2.
(c) 3. (d 4.
afd A=¢ & @l n[P(A)] TR & —
(a) 1. (b)y 2.
(c) 3. (d 4.
72. IfA= {x:x€R,x<5}and B= {x:x€ER,x>4}
then (ANB) is equal to-
(@ [45] (b) (4,5]
() [45) d 45
afd A= {x:xER,x<5} 3R B={x:xER, x>
4} 1 (ANB) SRR Bi—
(@) [4,5] (b) (4,5]
() [45) d &5
73. If A and B are two sets then (A — B)NB is equal to-
(@ ¢ (b) A
(c) B (d) None of these.
IfT AR B3I W & d (A-B)NB @R&R & —
(@ ¢ (b)) A
(c) B d) 3T 9 P TG
WH&T-11 (MO

Very Short Answer Type Questions
(erfa org S<¥E@ yw)

IfA={1,2,3,4,5 6} and B= {2, 4, 6, 8} then
find the value of (A—B) ?
afd A=1{1,2,3,4,5,6} IR B=1{2,4,6,8 &
Al (A—B) &1 A9 ST He?
IfA=1{1,2,3,4},B=1{3,4,5,6} and C = {5, 6,
7, 8} then find (AUBUC) ?
afd A={1,2,3,4},B={3,4,5,6} 3R C= {5,
6,7,8} d (AUBUC) &T #IF SIId & ?
IfX= {a,b,c,d} and Y = {f, b, d, g} then find the
value of (XNY) ?
Ife X = {a,b,c,d R Y={fb,d g
(XNY) &1 A ST He?
1fU={1,2,3,4,5,6,7}andA={1,3,5,7} then find(A")?
Ife {1,2,3,4,5,6,7} 3R A={1,3,5,7} g I
(A") &1 A Tl |
ifU={1,2,3,4,5,6},A={2,3} and B = {3, 4,
5} find the value of A' and B' ?
afd U={1,2,3,4,5,6},A={2,3} 3R B= {3,
4,5} g d A'3IR B' &I A fAared |
Find the Union of the sets A= {a, e, 1, 0, u} and B
={a,b,c}?
AHTad A= {a, e, i,0,u} 3R B={a b,c} &I
AT ST BN |
Find the intersection of the sets A = {a, e, i, 0, u}
and B={b, c} ?
=g A = {a, e, 1, 0, u} 3R B = {b,c} @l
FAFTS S PN |
IfA=1{1,2,3,4,5,6,7,8,9,10} and B = {2, 3,
5, 7} then show that ANB =B ?
afe A=1{1,2,3,4,5,6,7,8,9,10} 3R B= {2,
3,5,7) 8 @ geiv f& ANB=B.

Short Answer Type Questions
(e, ST ue)

Write the set {2, 4, 6, §, ......... } in the set-builder
form?

AT {2,4,6,8, .......... } BT 0T UHTIHRI T
H ford |

Show that the sets A= {x : x€N and x>*<4} and B
= {x:x€R and x> - 3x + 2 =0} are equal ?

e f6 A= {x:xEN 38R x?<4} T B = {x
:XER 3R x2—3x+2=0} SRR T




(i) {1,2,3,6} (a)
(i) 12,3} (b)

(i) {1, 3,5, 7,9} (©)

(1 {1,2,3,6} (a)
(i) {2, 3} (b)
(iii) {1, 3,5, 7,9} ()

8.

He&T-11 (oI

Write the intervals (=3, 0) and (6, 12] in set-builder
form?

RISl (-3, 0) 3R (6, 12] BT T YHSIBRYT B
H ford |

IfA=1{3,5,7,9,11}, B={7,9,11, 13}, C= {11,
13, 15} then show that AN(BUC) # (ANB)UC ?

afs A=1{3,5,7,9,11}, B={7,9,11,13},C =
{11, 13, 15} ar go1¢ f& AN(BUC) #(ANB)UC.
Ifsets B={2,4, 6,8} and C= {3, 4, 5, 6} then find
the set (B—C) where U= {1,2,3,4,5,6,7,8,9} ?
afd B={2,4,6,8} 3R C={3,4,5,6} & ar
(B—C) &1 4 el | 56T U= {1,2,3,4,5,6,
7,8,9}.

Prove that (A—B) — (B—A)=¢, Where A= {2, 3,
4} and B= {3,4, 6} ?

g & & (A-B)-(B-A)=0¢, W&l A={2,3,
4} IR B={3,4,6} T|

Match each of the sets on the left in the roster
form with the same set on the right described in
set builder form -

{x : xis a prime number
and a divisor of 6}

{x : x is an add nautral
number less than 10}

{x : x is a natural number
and divisor of 6}

q1g AR ARVIEE ¥9 H fRad iR T8 3R o
UHCIAROT BU H aftid Feedl BT Al el
BIFTI—

{x:xUd MY F&T
g 3R 6 B RSB &)

{x:x GE 109 $H
T {9 HIehel AT 8}
{x : x T Thd H&AT
g 3R 6 B WIoT® &)
Find number of subsets in set A= {3, 4, 5}?

AT A= {3, 4,5} d SUAGEAl B G=AT
IREAEE

IfA={x:xeNandx>-9=0} and B= {x : x€Z
and x> — 9 = 0} then show that A #B.

Ifd A= {x:xEN 3R ¥ -9=0} 3R B= {x:
xE€EZ IR x*-9=0} g d k@ f& A+B.

Long Answer Type Questions

(el Sad geA)

IfU=1{1,2,3,4,5,6,7,8,9},A ={2,4,6,8} and
B = {2, 3,5, 7} then verify that

(i) (AUB)=A'NB'

(i) (ANB) =A'UB'

afe U=1{1,2,3,4,5,6,7,8,9},A ={2,4,6,8}
3R B=1{2,3,5,7} a G1fud & fob—

(i) (AUB)=A'NB'

(i) (ANB) =A'UB'
IfA={3,5,7,9,11},B={7,9, 11,13}, C = {11,
13, 15} and D = {15, 17} then find the value of
following-

(i) (ANB)N(BUC)

(i) (AUD)N(BUC)

s A=1{3,5,7,9, 11}, B={7,9, 11, 13}, C =
{11, 13, 15} 3R D= {15, 17} =@ a1 f=faRad
@ A dbrel—

(i) (ANB)N(BUC)

(i) (AUD)N(BUC)

IfA = {1, 2, 3} then write the power set of A ?
A A ={1,2,3} A AD Uk F=I B
ford |




Answer key SIXHTeIT

Multiple Choice Questions

(a8 famcdia ueA)
(1 b (2 b (3 a “4) d 5) a
© a (7 a (8 c 9 a (10) a
(1) b (12) ¢ (13) a (14) ¢ (15) a
(16) d (17) ¢ (18) a (19) b (20) b
2) ¢ (22) ¢ (23) b (24) a (25) ¢
26) d (27) ¢ (28) a (29) a (30) ¢
B b 32)¢c (33 b (34) ¢ (35) a
36) ¢ (37) ¢ (38 a 39 b (40) d
41) d (42) a (43) ¢ (44) a 45 b
46) b (47) b (48 d 49) b (50) b
G d (52) ¢ (53) a 54) b (55 b
56) ¢ (857) ¢ (58) a (59) a (60) b
(6l) a (62) ¢ (63) a (64) b (65) a
(66) ¢ (67) a (68) d (69) a (70) d
(71) a (72) d (73) a
Very Short Answer Type Questions
(erfa org ST UeA)
1. We have, A= {1,2,3,4,5,6} and B= {2, 4, 6, 8}
S(A-B)={1,3,5}
2. We have, A= {1,2,3,4},B=1{3,4,5, 6} and
C=1{5,6,7,8}
AUBUC={1,2,3,4,5,6,7, 8}
3. We have, X ={a,b,c,d} and Y = {f, b, d, g}
S(XNY) = {b, d}
4, We have, U= {1,2,3,4,5,6,7} and A= {1,3,5,7}
SA'=U-A={2,4,6}
5. We have, U={1,2,3,4,5,6},A={2,3} and
B=1{3,4,5}
SJA'=U-A
={1,4,5,6}
and B'=U-B
={1,2,6}
6. We have, A= {a,e,i,0,u} and B= {a, b, ¢}
. AUB={a,b,c,e,i,0,u}
7. We have, A= {a, e,1,0,u} and B= {b, ¢}
SANB=6
8. We have, A={1,2,3,4,5,6,7,8,9, 10} and
B=1{2,3,57}
SCANB=1{2,3,5,7}
=B
= ANB=B.
WHEMT-11 (TOTA)

Short Answer Type Questions
(org S uEE)

We have,

.". In set-builder form
= {x:x=2nand nEN}

We have,

A= {x:x€N and x*<4} and

B= {x:x€Rand x*-3x+2=0}
Clearly, in tabular form -

A={1,2} and B= {1, 2}

S A=B.

Clearly, (-3, 0) and (6, 12] in set-builder form
(-3,0)={x:x€Rand -3 <x <0}
also,

(6,12]= {x: x€ER and 6 <x < 12}.

We have,

A=1{3,57,9,11},B={7,9,11, 13}

and C= {11, 13, 15}

S (BUC)={7,9,11, 13, 15}

and AN(BUC)={7,9, 11} ... (1)
Again,

(ANB)=1{7,9, 11}

and (ANB)UC ={7,9, 11, 13, 15} ...... (i1)

form (i) and (ii)
AN(BUC) £ (ANB)UC

We have,
U
B

{1’ 2’ 39 4’ 5, 69 7’ 8’ 9}9
={2,4,6,8} and C={3,4,5, 6}
S.B-C={2,8}
Hence,

(B_C)' = {1’ 39 49 Sa 67 7: 9}

We have,
A=1{2,3,4} and B = {3, 4, 6}
SL(A-B)=9¢
and B—A)=4¢

Hence,

(A-B)-(B-A)=¢

{1,2,3,6} = {x : xis a natural number and divisor of 6}

{2, 3} = {x : x is a prime number and a divisor of 6}

and {1, 3,5,7,9} = {x : x is an odd natural number
less than 10}

We have,
A={3,4,5}
.. No. of subsets = (2)* = 8.




We have,
A= {x:xENand x*-9 =0}
and B= {x:x€Z and x> -9 =0}
Clearly, In tabular form.
A= {3}
and B= {-3, 3}
hence,
A #B.

Long Answer Type Questions

(el Sada geA)

We have, U={1,2,3,4,5,6,7,8, 9},
A=1{2,4,6,8} and B={2,3,5,7}
" (AUB)={2,3,4,5,6,7, 8}
= (AuB)'={1,9} ... 1)
andA'={1,3,5,7,9},B'={1,4,6,8,9}
A'NB'={1,9}, ... (i1)
form (i) and (ii)
(AUB)'=A'NB'
Again,
(ANB) = {2}
= (ANB)'=1{1,3,4,5,6,7,8,9} .......... (iii)
and A'UB'={1,3,4,5,6,7,8,9} ........... (iv)
form (iii) and (iv)
(ANB)'=A'UB'
‘We have,
A=1{3,5"7,9,11},B={7,9,11, 13},
C={11,13,15} and D = {15, 17}
(ANB)=1{7,9, 11}
(BUC)={7,9, 11, 13, 15}
S (ANB)N(BUC)={7,9, 11}
Again,
(AUD)={3,5,7,9, 11, 15, 17}
(BUC)={7,9, 11, 13, 15}
S (AUD)NBUC)={7,9, 11, 15}
‘We have,
A={1,2,3}
S.n[P(A)]=(2) =8
and P(A) = {{1}, {2}, {3}, {1, 2}, {1, 3}, {2, 3},
11,2,3}, ).
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